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(2) Interleave Grounding (3) Interactive Segmentation
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A wooden surface holds a range of 
donuts with diverse icings—pink 
chocolate, rainbow donut, . 
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(4) Generic Segmentation
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Input:
What is the result
of mixing {oil} with
water.

Replace
{oil} @
Layer 10
to {acid}.Output:

When you mix 
acid with water, 
you get a 
solution.
However, when 
you mix an acid 
(like 
hydrochloric 
acid) with water, 
you get a 
solution…
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Image Features: [h,w,c]
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LLM Encoder

There are six apples
in the image, can you
pick the apple with
the darkest color.
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Conditional Attention

Motivation (LLaMA)

Layer 0

Layer 32

Input:
What is the result
of mixing {oil} with
water.

Replace
{oil} @
Layer 11
to {acid}.Output:

When you mix 
acid with water, 
it doesn‘t mix 
with water in 
the sense of a 
mixture of oil 
and water. Acid 
dissolves in 
water…

Layer 0

Layer 32

Input:
What is the result
of mixing {oil} with
water.

Replace
{oil} @
Layer 22
to {acid}.

Output:
When you mix 
acid with water, 
it forms a 
homogeneous 
solution. 
However, 
mixing oil with 
water results in 
a 
heterogeneous 
mixture…

Layer 0

Layer 32

Input:
What is the result
of mixing {oil} with
water.

Replace
{oil} @
Layer 23
to {acid}.

Output:
When you mix 
oil with water, 
they separate 
into distinct 
phases due to 
their
immiscibility. 
This is because 
oil and water 
are …
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Qualitative Results

Generic Segmentation Long-Context Segmentation Interactive Segmentation

This creature is the tallest land animal, 
known for its exceptionally long neck and 
legs, and distinctive coat of brown patches 
separated by lighter lines. It is native to 
Africa, where it browses on the higher 
branches of trees, primarily feeding on 
leaves and shoots.
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Ablation Results

… …

… …

Foundation Model 1

Foundation Model 2

FIND Interface
GitHub

Xueyan Zou, Linjie Li, Jianfeng Wang, Jianwei Yang, Mingyu 
Ding, Junyi Wei, Zhengyuan Yang, Feng Li, Hao Zhang, Shilong 
Liu, Arul Aravinthan, Yong Jae Lee*, Lijuan Wang*
* Equal Advising


